
y′ + y = 0

y′ = −y

y = Ce−x

D

y′′ − y′ − 2y = 0

(D2 −D − 2)y = 0

(D + 1)(D − 2)y = 0

y = C1e
−x + C2e

2x

y = Axe−x

y′ = Ae−x −Axe−x, y′′ = −2Ae−x +Axe−x

(−2Ae−x +Axe−x)− (Ae−x −Axe−x)− 2(Axe−x) = e−x

−3Ae−x = e−x

A = −1

3
(2)

y = C1e
−x + C2e

2x − 1

3
xe−x

解答例



x2 + 2x+ 3 = x2 + 2x+ 1 + 2

= (x+ 1)2 + 2

t = x+1 dt = dx x −∞ ∞ t −∞
∞∫ ∞

−∞
e−(x2+2x+3) dx =

∫ ∞

∫−∞
e−{(x+1)2+2} dx

=
∞

∫−∞
e−{t2+2} dt

=
∞

−∞
e−2 · e−t2 dt

=

√
π

e2

x2 + 2xy + 3y2 = (x+ y)2 + 2y2 u = x+ y, v =
√
2y

∂(u, v)

∂(x, y)
=

√
2

∫ ∞

−∞

∫ ∞

−∞
e−(x2+2xy+3y2) dxdy = √1

2

∫ ∞

(∫−∞

∫ ∞

−∞
e−(u2+v2) dudv

= √1
2

∞

−∞
e−u2

du

)(∫ ∞

−∞
e−v2

dv

)

= √π
2

解答例



λ1 = −1, λ2 = 1

y = −2x ( λ1 = −1

1
2

1

)

−2

y = −2x ( )λ2 = 1

1
1

F F

(
2 1

1 −2

)
=

(
−2 1

−1 −2

)

F = −1

5

(−2 1
−1 −2

)(−2 −1
−1 2

)

= −1

5

(
3 4
4 −3

)

=
1

5

(−3 −4
−4 3

)

解答例解答例


